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  (1)  . 1  4           
  (2)  . 5    
 

 – I 
1.             20  

-     (`) 
A 50 8 
B 30 8 
C 20 10 

        10%           
8100     

  -       :  
-     (`) 

A 4800 9 
B 3000 7 
C 2200 9 

              
 (1) -   
 (2) -   
 (3) -   
 (4) -   
 (5) -   
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2.        : 20 
 (1)    
 (2)    
 (3)    
 (4)    
 (5)  -  

   

  
  

  
(`) 

 
(`)   

  
  

(`) 
 
(`)  

A 8000 8 64,000 10000 9 90,000 
B 7000 10 70,000 8000 9 72,000 
C 10000 7 70,000 12000 8 96,000 
 25000  2,04,000 30000  2,58,000 

 
3.                  -X  

-Y       20  
 -X (`) -Y (`) 

  15,00,000 20,00,000 
  5  5  
        
  1 1,50,000 4,00,000 
  2 3,00,000 6,00,000 
  3 4,50,000 3,00,000 
  4 5,00,000 7,00,000 
  5 6,00,000 2,00,000 

        10%   
 (1)      
 (2)                   
 10%    ` 1        

 1 2 3 4 5 
  0.909 0.826 0.751 0.683 0.621 
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4.       20 
 (1)    ` 2,00,000   4           

   
  –1 :  12%         
  –2 :  14%         
         ?  
    A-1    
  3%    16     ` 1    1.605   
  14%    4     ` 1    1.689   
 (2) ‘   ’      
 

 – II  
5.  -         ( )  10 
  (1)      _____    
   (a)  (b)  
    (c)  (d)     
  (2)   _____         
   (a)   (b)   
   (c)    (d)     
 (3)       -     _____ -  

      
   (a)  (b)   
   (c)  (d)     
  (4)   = _____.  
   (a)    –    (b)   –     
   (c)   –    (d)     
  (5)        

   
  (`) 1,00,000 1,20,000 
   20,000 22,000 
 20,000 22,500 

   (a) – 2500 (b) + 2500 
   (c) – 1500  (d)     
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  (6)      = _____. 
   (a)   (  –  ) 
   (b)   (  –  ) 
   (c)   (  –  ) 
    (d)     
 (7)          ?  
   (a)   (b)     
   (c)    (d)     
 (8)   _____       
   (a)   (b)   +    
   (c)    (d)     
 (9)      _____    
   (a)   (b)    
   (c)      (d)     
 (10)          _____        

      
   (a)   (b)    
   (c)     (d)     
 (11)          
   (a)          
   (b)              
    (c)             

    (d)     
 (12)      ` 6,00,000    ` 5,00,000 ,    

  
   (a) 0.83 (b) 1.20 
   (c)  1.25  (d)     

_______________ 


